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Question Number : 1 Question Id : 630680317904 Is Question Mandatory : No Calculator : None Eesponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

What 15 the name of the technology released in April 2025 by Rossia’s Sberbank to compete with ChatGPT in the artificial intellizence
chatbot race?

Options @

1. ® AetaChat
2. ¢ GigaChat
3 ¥ MegaChat

4 ¥ ByteChat

Question Number : 1 Question Id : 630680317904 Iz Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.3
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Question Number : 2 Question Id : 630680317905 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

I Fune 2023, which of the following crganization selected Gazipur-Elenga (IN4) and Natore-Nawabgan) (IN6) highways for the
implementation of the project dedicated fo road safety in South Asia with a TSDY 3538 millicn financing agreement signed in Dhaka with
the zovernment of Bangladesh?

Options @

1. ® Internaticnal Monetary Fund

2. ¥ World Tourism Organization
3. ® United Nations

4. ¥ TWorld Bank

Question Number : 2 Question Id : 630680317905 Iz Question Mandatory : No Calculator : None Eesponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Options @

1. % @osTBah 1505 G

2. ® 550 Horptal HoR

Question Number : 3 Question Id : 630680317906 Iz Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 3 Question Id : 630680317906 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

B Bfay 2023, the 100-zeat Saeima legizlature elected 2z President to serve for a four-vear term.

Options @

1. ¥ Alberts Kviesiz

2. %" Edgar: Rinkevics

3. ¥ Guntis Ulmianis

* Gustavs Zemgals

Question Number : 4 Question Id : 630680317907 Is Question Mandatory : Ne Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
In April 2023, Daniil Medvedey beat Italy's Jannik Sinner 7-5 6-3 to win the Miami Open for his fourth title of the vear and
overall

Question Number : 4 Question Id : 630680317907 Is Question Mandatory : Mo Calcolator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 5 Question Id : 630680317908 Is Question Mandatory : No Calculator : None Eesponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
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Question Number : 5 Question Id : 630680317908 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
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Correct Marks : 1 Wrong Marks : 0.33
Match the winners of Laureus World Sports Awards 2023 with the Award category.

LIST A LISTB
WINNER NAME AWARD CATEGORY
I.  World Action Sporisperson of a) Catherine Debrunner

the Year Award

IoI.  World Breakthrough of the b) Eileen Gu
Year Award
II.  World Sportsperson of the Year c) Carlos Alcaraz

with a disability Award

V. World Comeback of the Year d) Christian Friksen
Award

1. ¥ J-a II-b, TN-d. TV
2. % Ih [-a M-, IVd
3.8 IallcIdIVh
4.9 b, II-c, -2, IV.d

Question Number : 6 Question Id : 630680317909 Iz Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: (.33

I it latest attempt to lay claim to areas inside the Indian territory, the Chinese sovernment in April 2023 announced it would
‘standardise’ the names of places in Amnachat Pradesh.
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Question Number : 6 Question Id : 630680317909 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 7 Question Id : 630680317910 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
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Correct Marks : 1 Wrong Marks : 0,33
Which country signed the first defence cooperation agreement with India in April 20237

Question Number : T Question Id : 630680317910 Is Question Mandatory : No Calculator : None Eesponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

DS 2023 LrESTIoSE’ Tndsed SL o HIFTS .593080% Hosko THS THo 6 7

Options @

1. % e

2. % OCiF

3. ¢ Tabadir

B, T
® oo A

Question Number : 8 Question Id : 630680317911 Is Question Mandatory : Mo Calcolator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : § Question Id : 6306803179211 I=s Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: (.33

T March 2023, signed a Memorandum of Understanding on rezsearch technology and innovation collaborations with focus on
zeveral key technology areas like Aerospace, Electronics. Earth & Ocean Sciences and Water, Mining. Minerals, Clen Energy. Biotech
and Healthcare.

Options :

1. ® India and Singapore
2. % India and Mexico

3. ¥ India and Malayzia
4. ® India and Indonesia

Question Number : @ Question Id : 630680317912 Is Question Mandatory : No Calculator : None Eesponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

Ameong SAARC nations, Indian higher education institutes dominate the top 300 categories of the QS rankinps 2023, with Pakistan being
the only other nation of the grouping to have a presence in thiz bracket with among the top 300

Options @
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Question Number : ¢ Question Id : 630680317912 Iz Question Mandatory : No Calculator : None Eesponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 10 Question Id : 630680317913 Is Question Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following iz/are correct about India’s G20 Prezidency?

L On Izt December 2022, India assumed the presidency of the G20 forum, taking over from Indonesia.
I India will convene the G20 Leaders' Sumoit for the first ime 10 September 2023
M1 India will convene 43 Heads of Delegations- the largest ever in the G20.

Options :

% Oniy I

® Onty III

% BothIand I
o T I and I

i Lid d =

Question Number : 10 Question Id : 630680317913 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 11 Question Id : 630650317914 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 11 Question Id : 630630317914 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

Irs which of the following states has India's first indizenously developed 700 MW nuvclear power reactor started commercial operations on

Brat
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30th June 20237
Options :

1 * Rajasthan

2 ¥ Tamil Nadu

3. ¥ Gujarat

4. % Madhya Pradesh

Question Number : 12 Question Id : 630680317915 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

What is the mame of the fertilizer lannched by Union Home Minister Amit Shah in Apnil 2023 to take Indian agrienlture forward in
focdgrain production and make India self-reliant in fertilizer production?

Options @

1. ¥ Nano DAP (Liguid)

2. ¥ Ethyl Ammonda (Gas)

3. ¥ Anhydrovs Nitrogen {Gas)
4. ¥ Nitro DAS (Ligmd)

Question Number : 12 Question Id : 630680317915 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¢ 573 DAP (|£5a5)

2 % oS «Sr Aoy (rain)
3. % Q53R BSsS (diy)
4. % T DAS (1£5a5)

Question Number : 13 Question Id : 630630317916 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1 ® Taref(Lesaze)

2. % Taree Meraz)

3. &T2 (Topaz)

4 & DD (Bizard)

Question Numhber : 13 Question Id : 630680317916 I= Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

What is the name of an Al-first set of services, solutions, and platforms launched by Infosys to help amplify the potential of humans,
enterprises and communities to tap into the next generation of opportunities to create value from unprecedented innovations. connected
ecosystems and pervasive efficiencies?

Options :

1. ¥ Tesare
® Meraz
¥ Topaz
® Bizard

L b2

din

et
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Question Number : 14 Question Id : 6306580317917 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: (.33

Which of these 12/are correct about Jugalbandi. a multitingual AT-chat bot?

L Tt was launched by Google in May 2023.
Il The chatbot has been de:‘eloped by Al4Bharat in collaboration with ITT Madras.
I It will be accessible via popular messaging platform WhatsApp:

Options :

% QaotyT

¥ Both I and III
X Beth1and T

1 Hand T

Ld b e
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Question Number : 14 Question Id : 630680317917 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: 0.33
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Question Number : 15 Question Id : 630630317918 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33
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Question Number : 15 Question Id : 630680317918 Is Question AMandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is/are comeet about 5G & Beyond Hackathon 20237

I The 5G & Beyond Hackathen was announced by the Department of Science & Technology on 28th June 2023,
IL It 1= open to irdividuals, students, start-ups and academic mnstitutions.
HOI. Hundred winners of the hackathon will share a total prize pool of T1 crore.

Options :

1. % CalyI

2. ¥ Bothland 1T
3. % Both I and ITI

arat
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4 % I MandTI

Question Numhber : 16 Question Id : 630680317919 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

For Draft National Curricolom Framework for School Edocation 2023, n which month was the Citizen Centric Survey lannched by the
Ministry of Education?

Options @

1. %" Angusi 2022

2. ¥ October 2022

3. ¥ December 2022

4. ® Febmary 2023

Question Number : 16 Question Id : 630680317912 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 17 Question Id : 630680317920 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: (.33

I which month was National Health Accounts Estimates for India {2019-20) releazed by Dr Vinod K Paul. Member (Health) of NITI
Aavog?

Dp-.ﬁ;ns i

¥ February 2023

' Apnl 2023

¥ =y 2023

lad  d hea

4 % Tune 2023

Question Number : 17 Question Id : 630680317920 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
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Options :
T A e
1 s} 23a00 2023
- g -~
2. ¥ Jiaadh 2023
3. % 02023
4. % 237 2023

Question Numhber : 18 Question Id : 630680317921 I= Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 18 Question Id : 630630317921 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 13

Correct Marks : 1 Wrong Marks : 0,33

I June 2023, the matter of horizontal reservation for which of these communifies came info light again for which a protest teok place on
27th June 2023 10 Mumbai against the reply of Maharashtra government to Bombay High Coort?

Options @

1. ¥ Teshian

2. % Gay

3 ¥ Bizexual

4+ Transgender

Question Number : 19 Question Id : 630680317912 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 19 Question Id : 630680317922 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

As of 26 April 2023, the cumulative enralments under which ofthe following schemes have been more than 3418 erore and an amount of
£2.302 26 crore has been paid for 1.15.951 claims?

Options @

1. ¥ Pradhan Maniri Suraksha Bima Yojana (FMSBEY)

2 ® Atal Penzion Yojana (APY)

5. ¥ Pradhan Mantri Jeevan Jyoft Bima Yojana (PMITBY)

4. ¥ Yarishtha Penzion Bima Yojana (VEBY)

Question Number : 20 Question Id : 6306580317922 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

10 30 2023 7eelE, b ¥ ODF oo [Faire 7o SR &) oralen 1208 ad radgron. S05R add fiGodod.

L |ey0IPEY —- 98.7%

I 80rent - 99.5%

OI s208 i — 97.89%
IV &8 (D55 —052%
Options :

¥ I SMeiah

® T SSom|edah

% I 580%0 I Dodsr
® IV Smstah

[ FE R T R

Jon

Question Number : 20 Question Id : 630630317923 Is Question Mandatory : No Calculator : None Response Time : N A Think
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Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
As of 10th Way 2023, the states with the highest percentage of ODF Plus villages are given below. Identify the INCORRECT match.

I Telangana -—- 98.7%
II. Karnataka --- 99.5%
OI Tamil Nadu -— 97-8%%

IV Uttar Pradesh—— 935.2%

¥ Bothland O
4 % Only IV

Question Number : 21 Question Id : 630650317924 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: (.33

Which of the following 1z/are trze according to the fifth annual World Asr Quality Beport 20227

L India was the world's eighth most polluted conntry in 2022 with an annnal average PM2.5 concentration of 53.3 micrograms per cubic
metre.

I With an anmnal average PM2 5 concentration of 92.6 micrograms per cubic metre, Mumbai has been ranked the fourth most polluted
city in the world.
HI. In the list of most polluted cities in the world, out of the 30 cities, 42 are in India.

IV. Az per the report. In India the transportation sector causes 20-35 per cent of the PM2.5 polluotion while other sources of pollution are
industrial nnstz, coal-fired power plants and biomass burning

Options :

1 % BothT and ITT

2. Both Tand IV

3. ® Both I and I

® Only I Iand IV

Lt

Question Number : 21 Question Id : 630680317924 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 22 Question Id : 630680317925 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: 0.33
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Who ereated history by securing India’s first-ever medal, a bronze, at the Asian fencing championships in Woxt, China in June 20237
Options :

1 ® Achwarya Mizhra

2. ¢ Bhavani Devi

3. ¥ Frothi Yarraji

4. % Nithvs Ramraj

Question Number : 22 Question Id : 630680317925 Is Question Mandatory : No Caleunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 23 Question Id : 630650317926 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

India’s Sunil Kumar scored potnts and clinched gold in the men’s decathlon at the Asian T20 Athletics Championships in
Yecheon, South Korea.

Question Number : 23 Question Id : 630630317926 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Sim Tocirs'd MATTFES’ 300S esHESE U20 ©T5) rohohsndhs’ Jhmne Bemad erdstad
TS D Susrh SPONOED TG0 Hido oo,

Options :
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Question Number : 24 Question Id : 630680317927 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Sodrie £6D0HS HanaHE OF (WCPL) £ Ho<8o Do Doodhed erdach (S805m 138 D09 | Fairol
P36, 2023 eafing 31 Ao 10 025 2023 S8% 287 Srpdeish 20 B0 eddhod.

Question Number : 24 Question Id : 630680317927 Is Question Mandatory : No Calculator : None Responze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
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Correct Marks : 1 Wrong Marks : 0.33
Shrevanta Patil, who made history by becoming the first Indian cricketer to be sipned for the Women's Canbbean Premier [eague
{WCPL), will play the match to be held from 31 Augnst to 10 September 2023 for team

Options :

1. ¥ Trnbage Knight Biders
2. ¥ Guyana Amazon Warriors
3. ¥ Barbados Royals Women
4. % Jamarea Tallawzhs

Question Number : 25 Question Id : 630680317928 Is Question Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Match the following winner of the First Janjativa Khel Mahotsav kicked off at KIIT DU in June 2023,

Sports Category Winner
1. Kabaddi Msn's Category a. Odisha
II. Kabaddi Women's Category b. Karnataka
II. Football Women's Category ¢. Chhattisgarh
Options :

1. % T.a I, III-b
2. % IbNcla
3. 1a b O-c
4 8 b Hs I

Question Number : 25 Question Id : 630680317928 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: (.33
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Options :
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3. La II.b, M-c
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Question Numhber : 26 Question Id : 630680317929 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

a6 2.8 rosaid. A0 T ArnS 28 THasS Db s mere 050833 3ros0 Hom 39 Ded
2OS (Tab TandS) Londo.
Options @
1. % b Bend DobhS
2. % Feb wdoling arosads
3. ® e doaseh
4. ¢ Frie; mere 670
Question Number : 26 Question Id : 630680317922 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
i3 a technigne by which infiltrated water passes through the unsaturated region of groundwater and joins the water table.
Options :
1. % Water table filtration
2 ® TWater :sturation technique
3. ¥ Underground sumping
4% Groundwater recharge
Question Number : 27 Question Id : 630680317930 Is Question Mandatory : No Caleulator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 27 Question Id : 6306580317930 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following iz a procedure uzied to zave an abscessed tooth in which the pulp chamber is cleaned cut, disinfocted, and filled
with a permanent filling?

Options &

1. ¥ Surgical pum graft
2. ¥ Gingivoplasty

3. ® Ensmel biopsy
4.+ Root canal therapy

Question Number : 28 Question Id : 630630317931 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
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Options :
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Question Number : 28 Question Id : 6306580317931 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : L3

Correct Marks : 1 Wrong Marks: (.33

Select the option that i3 true regarding the following two statements labelled Aszertion (A) and Reazon (R).

Azzertion (A): MBI iz often used to image kmee and shoulder injuries.
Feazon (B): The muscles. lipaments. and tendons are seen mnch more clearly with MRI than with regular x-rays and CT

Options :

« Both A and R are true, and B is the correct explanation of 4

¥ Both A and B are true, but R 13 not the correct explanation of A
¥ A sz true, but R s false.

¥ Both A and B are falze.

Lt g

Jen

Question Number : 20 Question Id : 630680317932 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marlks : 1 Wrong Marks : 0.33
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Question Number : 29 Question Id : 630680317932 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : L3

Correct Marks : 1 Wrong Marks: (.33

A vacoom cleaner can be smtable for all, EXCEPT

Options @

B removing dirt and dust from floors made of hardwood

#® cleaning cars and stairs

¥ picling op glass pieces

4. % removing dirt and dust from ppholstery

Question Number : 30 Question Id : 630650317933 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 30 Question Id : 6306580317932 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: (.33

Select the option that iz true regarding the following two statements labelled Assertion {A) and Reazon (R).

Aszzertion (A): WhatsApp is the world® s most popular cross-platform messaging app.
Beazon (B): WhatsApp enables nsers to access their conversations through a web browser.

Options :

1 ¥ Both A and B are true, and B iz the comrect explanation of A
2% Both A and R are true_ but R i= not the correct explanation of A
3. % Aistme bt Ris falze.

% Both A and R are fajze.

La

Question Number : 31 Question Id : 630680317934 Is Question Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 31 Question Id : 630650317934 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
Select the option that i3 true regarding the following two statements labelled Aszertion (A) and Reazon (R).

Aszzertion (A): Ultrazound scans are vsed to evaluate foetal development and they can detect problems m the liver | heart. kidney, or
abdomen
Reazon (B): Ultrasound scans are often uzed to check the progress of a pregnancy .

Options @

+ Both A and B are true, and B is the comrect explanation of A

¥ Both A and B are true, but B iz not the correct explanation of A
¥ A s true, bot Ris false.

#® Both A and R are false.
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Question Number : 32 Question Id : 630680317935 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: (.33
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Options @
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Question Number : 32 Question Id : 630680317935 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
Select the option that iz true regarding the following two statements labelled Assertion {A) and Reazon (R).

Aszzertion (A): Natural resource extraction includes activities dedicated to the recovery of sand, gravel rock, oil. natural gasz. and other
natural materials that are obtained by excavation, dnlling, bering. or other methods.
Eeazon (B): Pumpjacks are machines nzed to extract oil from wells.

Options :
% Both A and R are true, and B i the comect explanation of A

. % Both A and R are true, but B iz not the correct explanation of A
® At tme but B is falze.
¥ Both A and B are falze

Ld b e

im

Question Number : 33 Question Id : 630680317936 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: 0.33
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Question Number : 33 Question Id : 630650317936 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33

What 15 the common name of Azafoetida (Ferula azafbetida’) which 15 the dried zap or gum resin obtained from the roots of Ferula plants
and vsed i several Indian dishes?

Options :
1. ® Methi
2. ® Saunf
3.+ Hing
4

B Agpwain

Question Number : 34 Question Id : 630680317937 Is Question AMandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 34 Question Id : 630680317937 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following iz NOT a part of the excretory syster in humans?

Options :

1. ¥ Nissl's granules

2. ¥ Glomerulus

17151
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3. ¥ Henle'’s loop

4 ¥ Bowman's Capsule

Question Number : 35 Question Id : 630680317938 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Vitamins are a group of substances that are needed for normal cell function, growth, and development. Match the

following Vitamins with their chemical name.

Vitamin Chemical name
I Witamin B2 a. Niacin
II. Vitamin B6 b. Riboflavin
oI Vitamin B3 ¢. Biotin
IV. Vitamin B7 d. Pyvridoxine
Options :

1. ® Ig Il II-b, IVd
_# Ib, II-d, -2, TVoc
® Ia ILb, I-c. IV.d

®IdIbIlcIVa

¥ S R

Question Number : 35 Question Id : 630630317938 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
DD FrrSen e HABK, DEH S 805N BDBHDE BIDED DT Hro. Bod
DEINDED a3°¢3 Sarahd Ao aaddsod.

FATA S Sarainsd a0
. dsade B2 a. AR
Il eashdS B6 b. 88 TS
., &éadd B3 c. 203Te3S
V. Db BT d. 2080
Options :

1. % s Tc; TI-b, IVid
% b, I-d, M-a TV
® Ia ILb, I-c. IV.d

R Id b McIVa

do L B2

Question Number : 36 Question Id : 630630317930 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
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Correct Marks : 1 Wrong Marks : 0.33

In' primary succession in water, the pioneers are the
Options @

1. ¥ rooted-submerged plants

2. ¥ small phytoplanktons

3. ® pooted-floating angiospenms

f=

¥ reed-zwamp

Question Number : 36 Question Id : 630680317932 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 37 Question Id : 630650317940 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 37 Question Id : 630630317940 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

A statement 13 given followed by two conclosions. Select the correct response from the ziven options.

Statement:
Aschelminthes are called rovndworms.

Conclusion:

1) The body of the aschelminthes i3 circular in cross-section.
11} Roundworms have organ-system level of body organtsation.
Options :

¥ Only conclusion (i) is correct.

# Ounly conclusion (i) is comrect

i)

¥ Both conclusions (i) and (if) are correct

Lo

¥ Neither conclusion (1) nor (1) 13 correct.

Question Number : 38 Question Id : 630680317941 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Living systems are made up of various complex biomolecules which include carbohvdrates. Match the following Group

of Carbolrvdrates with their examples.

Group of Carbohydrates

Examples

1.  Monosaccharides

a. Cellulose

I.  Oligosaccharides

b. Ribose

M. Polysaccharides

¢. Maltose

Options :
B IaIlc O-b
W Lp ¢, IMl-a
®1allbh e
X Ik Ha e

UL T T

i

Question Number : 38 Question Id : 630680317941 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options @
1. % I-a H-¢ M-b
2.4 1b Ic Ma
3. % [a II-b, ¢
4 Wik HOallle

Question Number : 39 Question Id : 630680317942 Is Question Mandatory : No Calenlator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Match the given component of living tissues with the percentage of the total cellular mass.

Component Percentage of the total cellular mass
1.  Lipids a. 5-T%
II. Proteins b. 10-15%
II.  Carbohydrates c. 3%
IV,  Nucleic acids d. 2%
Options &

% I3 Tlc, TI-b, TVod
¥ Lb, II-d, M-z TV
® Ia ILb, I-c. IV.d
¥ Id, IL-b, M. TV-a

R s N

Question Number : 30 Question Id : 630630317942 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
DBy 2 S TP 2080 S GO0 ot adnidod.

2o Qoodo S5 Gaord o
. B a 5-74
I 2Téddo b. 10-15%
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Options :

1. % Tg T I-b TV-4
2. % Ib I.d T-a IVe
3. % La Ii'b: -c, IV-d
4 % 1d Ibh e I\Va

Question Number : 40 Question Id : 630630317943 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
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Question Number : 40 Question Id : 630650317942 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : L3

Correct Marks : 1 Wrong Marks: 0.33

I this question a statement 1z given followed by two conclusions. Choose the correct response from the given four options:

Statement:
The members of chiorophyeeae are commonly called green alzae.

Conclusion:
1) Green algae usually have a nigid cell wall made of an inner layer of cellulose and an cuter layer of pectose.
1i) Chlorophyceae are usually grass green due to the dominance of pigments chicrophyll a and b.

Options :

1. ¥ Only conclusion (i) is comrect.

2. ¢ Oaly conclusion (i) is comect.

3 % Both concluosion (1)-and (i) &re correct.

4 % None of the concluzions are comect

Question Number : 41 Question Id : 630680317944 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Az per Naticnal Dizaster Manapement Aunthority (NDMA) Report 2018-19, out of 36 states and union territories in the country, how many
of them are dizaster prone?

Options :

® iz

LB 1

%23

w27

e L d e

Question Number : 41 Question Id : 630680317944 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Numhber : 42 Question Id : 630680317942 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options @

1. % a0%%

2 % 70%
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3 % 755

4+ B5%

Question Number : 42 Question Id : 63068031 794% Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 13

Correct Marks : 1 Wrong Marks : 0.33

Az per the Centre for Besearch on the Epidemiology of Disasters, CRED 2000 what percentage of deaths during disasters are of women
and children?

» 7%

4.+ 83%

Question Number : 43 Question Id : 630680317946 Is Question Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: 0.33

I which year was the first Dizaster Management Training Institution of India foundad at Waopur as the Central Emergency Relief
Training Institute (CERTI) to support the Emergency Relief Organisation of the Government of India?

Options @
ol 25T
¥ 1857
X 1062
4 % 1073

g ) =i

Question Number : 43 Question Id : 630650317946 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 44 Question Id : 6306580317947 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following states constifuted State Dizaster Management Avthority (SDMAS) under the Dizaster Management Act, 2005 in
2001 immediately after the 26th January 2001 earthguake?

Options :

235
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& Nisharashtra
% Bihar

. % Guojarat
® Odisha

[ R O | o

Question Number : 45 Question Id : 630650317948 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
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Question Number : 45 Question Id : 630630317948 Is Question Mandatory : No Calculator : None Eesponse Time :
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following iz a natural factor which makes the country prone to varicus forms of disasters?

Options @

1. ¥ Unsecientifie development

2.+ Exireme weather conditions

3. ® Increazing demograpluc pressure

¥ Tnplanned nrbanization

Jen

Question Number : 46 Question Id : 630630317942 Is Question Mandatory : No Caleulator : None Eesponse Time :

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

N.A Think

N.A Think

Which ministry in India renders technical advice to the States and UTs and Central Mintstries on Fire Protection. Fire Prevention and Fire

Legislation?

Options :

« Ministry of Home Affairs

#® Ministry of Urban Development
¥ Ministry of Earth Sciences

4. ® MNonstry of Enviropment, Forest and Climate Change

Question Number : 46 Question Id : 630680317949 Is Question Mandatory : No Calculator : None Response Time :

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: 0.33
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Options :
2005

%
. w2008
R
®

Lid B e

2010
2013

Question Number : 47 Question Id : 6306580317950 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

I which year did Prime Mimister Dr Manmchan Singh release India’s first National Action Plan on Climate Change (WAPCC), outlining
existing and future policies and programmes addressing climate mitization and adaptation?

Options :

1. ® 2005

' 2008

u 2010

Y PR R ]

R 2613

Question Number : 48 Question Id : 630630317951 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33

Which of the following iz the kev programme for prevention control of cutbreaks'epidemics of malaria, dengue, chilungpnya ete.
vaccines administered to reduce the morbidity and mortality due to diseases like measles, diphtheria, pertossiz, poliomyelitis ete?

Options :

# Inter-Sectoral coordination for Prevention and Control of Zoonotic Dizeazes
% Integrated Diseaze Surveillance Programime

« National Vector Borne Diseases Control Programme

e R

#® Yaws: Eradication Programme

Question Number : 48 Question Id : 630680317951 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 49 Question Id : 630680317952 Is Question Mandatory : No Caleunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

To map and monitor the spread of coronavims disease 2012 (COVID-19) cases, which of the following set up a war room that integrates
GIS technology?

Options @

%" Bruhat Bengaluro Mahanagara Palike

® Brihanmumbai Municipal Corporation
¥ Kochi Municipal Corporation

4 ¥ Todhpor Momcipal Corporation North

Question Number : 49 Question Id : 630680317952 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 50 Question Id : 6306580317932 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : L3

Correct Marks : 1 Wrong Marks: 0.33

I this question a statement 1z given followed by two conclusions. Choose the correct response from the given four options:

Statement:
Preparation of an inclnsive landslide hazard zonation map needs intensive and continned efforts.

Conclusion:

1) A huge quantity of data on lots of varniables covering large slope areas has to be collected, stored, sorted and evaluated.
1i) The use of asrial photographs, satellite images and adoption of remote sensing techniques helps in the collection of data.

Options :
1. ¥ Only conclusion (i) is comrect.
¥ QOnly conclusion (i) i comect

. %" Both conclusions (1) and (i) are correct.

dm L P2

£ None of the concluzions are comrect

Question Number : 50 Question Id : 630680317953 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 51 Question Id : 630680317954 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 51 Question Id : 630680317954 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

In: this question. a statement 45 given followed by two concinsions. Select the correct response from the given options.

Statement:
FEemote sensing iz emerging as a popular means of map preparation while GIS can be used for storage, analysis and retrieval

Conecluzions:

1) Under remote sensing techniques, maps can be prepared using satellite data or aerial photographs and then digitized and stored on
computers using GIS soffware.

1i) The difficulty with traditional manwal maps is that they are tedious and time consuming to prepare, difficult to vpdate and inconvenient
to maintain.

Options :

1 ¥ Oaly conclusion (i) iz correct

2 % Only conclusion (i) i= correct

3. ¥ Both conclusion (i) and (i) are correct.

4. ¥ Neaither conclusion (1) nor (i) iz correct

Question Number : 52 Question Id : 630680317955 Is Question Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A !bhmmum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following are Geological related dizasters?

I Landzlides and muodflows
I Earthquales

I Dam failureDam bursts
IV MMine dizasters

V. Cattle epidetiies
Options :

¥ Only L Mand [T

® Both T and W

+ Onty LTI, I and TV
¥ Only I, T and IV

B d B e

Question Number : 52 Question Id : 630680317955 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 53 Question Id : 630630317956 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following iz/are the examples of Preparedness activities in India in case of dizasters?

I Development of local waming and community evacuation plans through community education

II. Evolving local response structires such a3 Community bazed Dizaster Managzement Teams (DMT) and administrative preparedness by
way of stockpiling of supplies

OI. Developing emergency plans for rezcue and relief

Options :

# Both T and I
% Oniy I
¢ [ T and I

e L Rl e

Question Numhber : 53 Question Id : 630680317956 I= Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 54 Question Id : 630680317957 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Select the option that 13 true regarding the following two statements labelled Asserbion (A} and Reazon (B).

Azzertion (A): UP and Bihar rank the highest in terms of cazualties from cold wave.
Eeazon (B): The highest cazpalties in UP and Bihar from cold wave are due to poor level of development and lack of shelters for the
outdoor workers and farmers.

Options :
. % Both A and R are true, and R iz the correct explanation of A

¥ Both A and R are true, but B 15 not the comrect explanation of A

[ e R

® A= trme: but B 1s false.
¥ Both A and B are falze.

da

Question Numhber : 54 Question Id : 630680317957 Iz Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Options @
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Question Number : 55 Question Id : 630680317958 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
Maiech the mumber of Cold Waves which ocenrred in India from Year 2010-2012.

Year MNumber of Cold Waves in India
L 2010 a. 100
IL 2011 b. 212
III. 2012 ¢. 218
Options :
1, ¥ Ly Mg N-b
28 IhHellla
3.+ 1505 Mc
4 % Tp Iz IM-c

Question Number : 55 Question Id : 630680317958 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
2010-2012 ::m;ﬁﬁjmuﬁe' T EHH0S” DoBIoH FOU TV o[ 2BDOBC.

RoddGo erCaSFoe) PO rrew Soa
. =010 a. 100
1. =om b. 212
. 2oz C. 218
Options @
1, ¥ [allc III-b
2. % IpHella
3.9 1a b M-c
4 % Ih s Ilc

Question Number : 56 Question Id : 630680317939 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 56 Question Id : 630680317952 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

Which of the following iz NOT a benefit of planting trees for poor communities in India?

Options @

1. ¥ Tree: rapidly improve the local chimate by providing shade reducing the temperature, and promoting ramfall

2. ® Tree: improve soil quality through composting, water retention, and reduction of zo1l erosion.

3. ¥ Trees absorh the excess nnize from small industries and irgation facilities.
4

#® Trees give rural families a source of snstainable income and mtritions food

Question Number : 57 Question Id : 630680317960 Is Question AMandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following iz NOT among the schemes lannched by the Government of India to encourage generation of solar power in the
country?

Options :

1. ¥ Solar Park Scheme

2. ® Viability Gap Funding (V'GF) Scheme
3. ¢ 33 Stack Defensive Scheme

4. ¥ Grid Connected Solar Rooftop Scheme

Question Number : 57 Question Id : 630680317960 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 58 Question Id : 630680317961 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following water bome diseases cansed maximum deaths in India during the period 2017 to 20217

Options &

1. ¥ Viral hepatitis

¥ Cholera

# Typhoid

¥ Acute diarrhoeal diseases

U R S |

Question Number : 58 Question Id : 630630317961 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33
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Question Number : 59 Question Id : 630680317962 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following are the challenges faced by India i achieving SDG 3 — Good health and well-being?

L Private healthcare can be expensive and varies in quality and costs of services in India.

II. Coordination between Central Government and State Government hospitals is compulsory
I Public healtheare though much cheaper iz unreliable.

IV, Accessibility of healtheare particularly in mural areas 13 lacking.

V. Asvareness regarding preventive care, from diet to lifestyle, are often vnderappreciated.
Options :

1. ¥ Oniy I II I and IV

28 Only T T TWand V

3 0oy LIL IV and V

4 % Qoly T IVand ¥V

Question Numhber : 60 Question Id : 630680317963 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Match the Five Year Plans implemented in India (Column A) to the vears of their launch (Column B).

Colimn A Column B
A) Seventh Five Year Plan I 1961
B) Fourth Five Year Plan Iy 1985
C) Fifth Five Year Plan Iory 1969
D) Third Five Year Plan IVy 1974

Options @
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1.% A WE-LC.ILD-T
v A ILB-ILC-IV,D-I
® A _MLB-IVC-LD-II
® A IB-ILC-ILD-IV

lid =

Question Number : 60 Question Id : 630680317963 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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D) dured Dodadd neFds V) 1974

Options @

1 ¥ A WEB-LC-ILD-NO
2YA IB-IN.C-IV.D-I
3%A ME-IVC-LD-TI
4 %A ITBE-NE-THE-IV
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Question Number : 61 Question Id : 630680317964 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements i3 NOT relevant to the Green Revelution?

Options :

# Tt mvolved use of improved seeds of hugh vieldins varieties.

' Tt involved crossbreeding of indigenous cows with high mill yielding Furopean breed.

Lid. B ek

¥ Tt needed adequate and assured supply of water for imoation

im

¥ Itneeded increased and sppropriate application of chemmcez! fertilizers.

Question Number : 62 Question Id : 630680317965 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 62 Question Id : 630630317965 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
Before independence, the rate of industrialization in India was slow due to lack of sufficient
Options :
# cotton textile mills
¥ capital goods industries
. ® cement industries

o R

& ijron and steel indusiries

Question Numhber : 63 Question Id : 630680317966 I= Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 63 Question Id : 630680317966 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about agricultural sector in India under the British rule is comect?

Options @

. % Under the zamindari system, the profit accruing out of the agricuiture zector went to the zamindars.
# Cuoltivators who did not depozit specified sums of revenue by a fixed date lost their rights a2 per the terms of the zarmindan svatem
® Fammers in India were producing food crops for uze by British industries

4. ¥ Substantisl nse of fertilisers was one of the reasons that contribnted to low letvel of agricultural productivity in India

Question Number : 64 Question Id : 630680317967 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

208 2 Hotdsd 1DETPie HchoS arddTios” bl ads Frosre S55ESN0 (DPAPY ardodosadod?
Options :

1. ¥ @835 HodS0 |Hares
2% =0 .-_\_IOL,_,;.\_.-';' lad g
3% Jorddsd SHodha0 |Horeds
4
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Question Number : 64 Question Id : 6306580317967 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
During which of the following Five Year Plans was the “Drought Prone Area Programme” initiated in India?
Options :
1. ¥ Sixth Five Year Plan
2. ¥ Fifth Five Year Plan
3. % Third Five Year Plan
4+ Fourth Five Year Plan

Question Numhber : 65 Question Id : 630680317968 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 65 Question Id : 630680317968 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

In 1950, an enterprize which invested a mazinumm of ¥ was classified a3 a *zmall-zcale industrial unit’ in India

Options :

1 ¥ cight labhe

2 ® zeven lakhs

3. ¥ five lakhs

L

.
i
3
i

Question Number : 66 Question Id : 630680317962 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 66 Question Id : 630680317962 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

SPMBM was launched tn 2016 with a goal of “development of a chister of villages that preserve and murtnre the essence of mral
community life with focus on equity and inclusiveness withowt compromizing with the facilities perceived to be eszentially urban in
namre’.

SPMEM iz an acronym for :

Options :
1. ¥ Shyama Prasad Mukherji Rural Mission
2. ¥ Shyama Prasad Mukher Revrval Mission
3. % Shyama Prazad Mukherji Rurban Miszion
3451
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4 ¥ Shvama Prazad Mukherji Reclamation Mission

Question Number : 67 Question Id : 630680317970 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 67 Question Id : 630680317970 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Az per the Global Multidimensional Poverty Index 2022, India’s MPI valne stoodat  in 201921,

Options :

X 0960

® 0.590

® D09s

o 0,069

i Lid d =

Question Number : 68 Question Id : 630680317971 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 68 Question Id : 630680317971 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: (.33

The Atal Innovation Mission (ATV) was set up by the ity 2016, with an objective to create and encourage an environment of
nnovation and entrepreneurship across schools, educational organizations. research institutes and industries including MSMEs.

% All Tndia Conncil for Techmical Edocation
¥ University Grants Commiszion

4 & Fducation and Research Network

Question Number : 69 Question Id : 630680317972 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

As of June 2023, the target groop for Deen Dayal Upadhyaya Grameen Kavshalya Yojana are poor mural youth in the age group of

years, with relaxation in upper limit for specific volnerable groups.

Options :

1. * 15-25

35051
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2. 15-35
3 % 15.50
4 % 15.60

Question Number : 69 Question Id : 630680317972 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : T0 Question Id : 630630317973 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33

Match the expert groups constituted to estimate the number of pcnp].c lving m povesty in India (Column A) to the features

{Column B).
Column A Column B
I} It adopted the officially measured urban poverty line of 2004-05
A) Tazk Force headed by Dr.
(25.7%) based on Lakdawala Expert Group methodology.
YK Alagh (1579)

Oy It quantified the poverty line i India for the first time in terms of 2
B) Study by VM Dandekar and = | R
minimum requirement (food and non-food) of individvals for

N Rath (1971) )
htallh}' h‘rmg.
Iy It defined the poverty line as the per capita consumption
C} Tendulkar Expert Group
(200) expenditure level to meet average per capita daily calone

requirement of 2400 kcal per capita per day in rural areas and
2100 kcal per capita per day in uwrban areas.

V) It first established the consumption levels required 1o meet a
D) Waorking Group (1962) ) .
mummum calone norm of an average calone nomm of 2,250

calories per capifa per day.

Options @

1 ¥ A WB-ILC-T D-1
2YA MB-IVC-LD-I
38%A NMB-LC-IV.D-II
4 %A TB-LC-THLEB-IV

Question Number : 70 Question Id : 630680317973 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

3e/at



10118423, 1:12 PM

argodizos) Hriosod’ A0y e DosRy e Saboad hm:,rm B Meprow Saorafes (srwdo A)
oo wicrud (sols B) hﬂﬁﬁuaor}. .

w0 A oL B

1 =a wsser ':}E.Daé frd Duceseed wordan eds0gor

A) . 2.5, B & e
2 i #FB0a 2004-05 (25.7%) Die mngﬁ Ao bssma{'lnﬂ.

el 6, (1979)

) wiscms dase Sho dife 605 wdbow (wakdo
fudoiy erdad) Htor 30 Aucddromr erdadtod’ e
Sanzo uébo&oa.

B) VM cofsh fuooio N ood
Mﬁnﬁ.}&‘m (1971)

mj) oo ”'“ﬁ B Sera0 Dt ey gmnm x:qs_ﬂaﬂm,
rine Frooed’ duht S 2400 46° Suden 2udaiv D

Sroredl® a8 Bty 2100 265° 2nfen Hritn deibd Beaord
Soder ooy SRl Domouien.

C) Bottray 6 Diproes eyodie
(2003)

V) =0 2wsy B oobo 2,250 ubu it svjold parpe
chug), 83 Tjod Darmdy dfacid wabtios
HETsLly g-m.:mm Doy Shed,

D) #8y,0h 675 (1962)

Options @

®A-INWB-ODLC-TLD-I
A TME-TV,C-LD-TI
RA-IIB-LC-IVD-II
KA-IB-ILC-TLD-IV

lad  d hea

Question Number : 71 Question Id : 630680317974 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1.+ 5rens
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3 ® Hdascs

4 ® EHe

Question Numhber : 71 Question Id : 630680317974 I= Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
As per the Indian Minerals Yearbook 2021, was the leading producer of primary gold accounting for 99% production in 2020-21.
Options :
. % Earnatalks

® Chhattisgarh

#® Niadhya Pradesh

¥ Kersla

O B R

Question Numhber : 72 Question Id : 630680317972 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 72 Question Id : 630630317972 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about the Himadri Range 13 INCORRECT?

Options :

1. ® Tt iz the northermmost range of the Himalavas.

® Tt 15 the highest range of the Himalayas.

¥ Tt mamntaing iz conttnuity from west to east.

¢ Dehradun is sitpated in this range.

P d D

Question Number : 73 Question Id : 630630317976 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 73 Question Id : 630680317976 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

The changing courze of the river Brahmaputra and ifs tributaries led to the formation of  island.

Options :

1. % Majuli

Z % Dm

3. ® Pamban

4. ® Car Nicobar

Question Number : 74 Question Id : 630680317977 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 74 Question Id : 630680317977 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: (.33

The Sudden movements in the intertor of the earth can canse’create

Options &

¥ voleanoes

® continents

#
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plareanz
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4. 8 goeans

Question Numhber : 75 Question Id : 630680317978 Iz Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 75 Question Id : 630680317978 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

AAn iz aland featnre formed by a river in #ts upper course.

Options :

% flood plain

¥ altuvial fan

+ canyon

4. % delia

Question Number : 76 Question Id : 630680317972 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 103

o 204

3. % 301

4. % 400

Fa

Question Numhber : 76 Question Id : 630680317979 Iz Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

Az per the Indian Ninerals Yearbook 2021, India produced about million tonnes of iton ore in 2020-21.

Options :

1. % 105

2.9 204

2% 30

4 % 402

Question Number : 77 Question Id : 630680317980 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Select the option that i3 correct regarding the correctness of the followsng tvo statements labelled Assertion (A) and Reason (B

A: Two of the highest peaks of Himalayas, Mt Everest {in Nepal) and Kanchenjunga are not very far from the plains.
E: In the east, the Himalayas rise almost abruptly from the plaing of West Bengal and Aszam.

Options &

1. % Both A and B are individually true. and R is the correct explanation of A

2. ® Both A and B are mndividoally true, but B 1= not the correct explanation of A

3a/a1
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3. 8 A iz troe but B 15 false
4 % A 4z falze but B 12 true

Question Number : 77 Question Id : 6306580317980 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Numhber : 78 Question Id : 630680317981 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 78 Question Id : 630680317981 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

‘Horstz" are featnres associated with

Options :
1 % oid fold movntains
2 B gpew fold mountains
3. ¢ block mountains

4 ¥ ypleamic mouniain:

Question Number : 79 Question Id : 630680317982 Is Question Mandatory : No Caleunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Match the regions of the Northern plains (Column A) to their features (Column B).

Column A Column B
A)bangar (bhangar) I'  made of pebbles/ gravel
B)khadar O) marshy land
C)bhabar I}  never covered with flood water of rivers
D)terai IV) flooded by streams almost every vear
Options :

e

Question Number : 79 Question Id : 630630317982 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think

A WE- NLC.ED-I
VA MB-IVC-LD-T
A NB:LC-WD-II
®A IB-ILC-OLD-IV

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33
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Options @

Question Number : 80 Question Id : 630680317983 Is Question Mandatory : No Caleulator : None Response Time : N.A Think

® A IVB-NLC-ILD-I
VA MLB-IVC-LD-T
¥ A MB-LC-IVD-II
A IB.IC-HLD-IV

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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4. ¥ FeRh)

Question Number : 80 Question Id : 630630317983 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

The zolid conical depositional features hanging from the roofs of imestone caves are called

1
2. % cingues

3. % stalaomites
4. ctalactites

Question Number : §1 Question Id : 630630317984 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

The Panynad iz formed by successive confluence of five rivers. They are

1. % Beas, Chenab, Thelum Bavi and Satluj
2. # Beas, Eaveni Kosi, Favi and Satly
3. ¥ Beas, Jhelum Maht Kaven and Satim

4. ® Beas, Chensb, Mahi Kost and Sathyj

Question Numhber : 81 Question Id : 630680317984 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 82 Question Id : 630680317985 Is Question Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : §2 Question Id : 630680317985 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: 0.33

Which of the following 1z a tributary of the river Kaveri?
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Question Number : 83 Question Id : 630680317986 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
Az per the Indian Minerals Yearbook 2021,  has the largest reserves/rezources of copper ore in India
Options @
1. % Andhra Pradesh
2. % Telangana
3. % QOdisha
4.+ Rajasthan

Question Number : 83 Question Id : 630680317986 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 84 Question Id : 630680317987 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

iz the site of confluence of the rivers Alalnanda and Pindar

Options :

® Vishnuprayag
® Nandaprayag
« Karnapravag
% Devprayag

Ld [ e

in

Question Number : 84 Question Id : 630680317987 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: (.33
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Question Number : 85 Question Id : 630630317988 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
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Question Number : 85 Question Id : 630680317988 Is Question Mandatory : No Calculator : None Eesponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
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Correct Marks : 1 Wrong Marks : 0.33
I Tibet, the iz known as ‘Langchen Ehambahb®.
Options &
1. ® Indus
. % Sathy
¥ Kosi

¥ Subansiri

[ R

Question Number : 86 Question Id : 630650317982 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

The rizing to an-elevation of about metres, Gurushilthar 15 the highest pesk in the Aravalli Range.

Options &
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Question Number : 86 Question Id : 630630317982 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33
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Question Number : 87 Question Id : 6306580317990 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : L3
Correct Marks : 1 Wrong Marks: 0.33
Who was the Chief of the Army Staff of Tndia during the Indo-Palistan War of 19717
Options @
® Tapishwar Narzin Raina
- % Sam Manekshaw

¥ Kodendera Subayva Thimavya

Lid ) s

* Kodanders Madappa Cariappa

Question Number : §7 Question Id : 630650317990 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Numhber : 88 Question Id : 630680317991 Iz Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33
The Shimla (Simla) Agreement was signed between  of India and Zulfilar Ali Bhutto of Pakistan
Options :
44781
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1. ¥ Jawaharlal Nehm

2. B Morar: Desai

3. ¥ Indira Gandhi

4 =% T sl Bahadur Shastrs

Question Number : 88 Question Id : 6306580317991 Is Question Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 89 Question Id : 630630317992 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Swami Vivekananda founded the i 1397 for the uplifiment of the masses.

Options :

1. #* Ramalrishna Mission

2. ® Batyashodhalk Samaj

3. ¥ Prarthana Samaj

4. ® Young Bengal Movement

Question Number : 89 Question Id : 630630317992 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33

w0 DBTH0S 18976 |Hae edhidya §Ho D Do,

Question Number : 80 Question Id : 630680317993 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

The Communist Party of India was formedin 10 1920,

4 % Mozeow

Question Number : 20 Question Id : 630680317903 Is Question Mandatory : No Calcunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

2PSs B ard 19208 STrdodiaded.

Options :

1.« o080
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Question Number : 21 Question Id : 630630317994 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

The Section 2 of the Prevention of Insults to National Honour Act 1971 stipulates imprizonment for a period upte  or fine, or both,
as penishment for insulting the National Flag of India.

Options @

1. ¥ one year

2. ® two vears
3. ¥ three vears
4

B five vears

Question Number : 21 Question Id : 630680317994 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

PPeIGH MO sodsdTare) DELY 2560 197150 RER 2 |00, ards 2P8aH Bomh BisrdoddSocht 8L m
S8 Bewn R4 Do 200wy Doy Doty Doodsadearon.

Question Number : 92 Question Id : 630680317995 Is Question Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

0w, 068 SOJEFOR) (seoin A) add &‘}é&‘}%‘*&’}ﬂmﬂj (s~e2in B) ?ﬂﬁﬁt}aﬂﬁ.
sean A = B
A) Goirdol DORRS 1) rga darao

B) orar ora ATee TROD) 2) odna Borrd edgao

C)esesy, oo Fociitoh 3) espaard

D)ird erony DHaHS 20 A 4) pi), DaTEo
Options &
h2A 4B 1LE 30 3
2 8-A-3B-3.6-4D-1
3V A-3B-4C-1LD2

4

48 A 1B 2E- 3.1

Question Number : 92 Question Id : 630680317995 Is Question Mandatory : No Calculator : None Besponse Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
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Match the reform movements (Column A) to thelr founders (Column B).

Colupmn A Column B
A) Dayanand Saraswati 1} Prarthana Samaj
B) Raja Ram Mohan Roy 2) Young Bengal Movement
C) Atma Ram Panchwrang 3} Arva Samaj
D) Henry Lui Vivian Derozio 4) Brahmo Samaj

3.¥A 3B -4£G-1.D-2
4 %A 1EB-2C-3D-4

Question Number : 23 Question Id : 630680317996 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

MBTES 32008 Ho Do SrS 055 AT £92) BPcE meunron.

Options :
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Question Number : 93 Question Id : 630650317996 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : L3

Correct Marks : 1 Wrong Marks: 0.33

Mool Shankar Trwari. a social reformer born 1 Gujarat, was popularly knownas

Options @

1. ¥ Dayanand Sara=wati

2 & Ramsinshna Paramhanza

3 ® Swami Vivekananda

4 *® Swami Sahajanand Sarazwat

Question Number : 94 Question Id : 630680317997 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 94 Question Id : 630680317997 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Select the option that i3 correct regarding the correctness of the following fvo statements labelled Aszsertion (A) and Reazon (B

A: The Britich held 2n aszemblage or “Durbar’ in Delhi in 1911,
B The coronation of King Edward VII was celebrated at a "Durbar” in Delhi,

Options &

1. ¥ Both A and R are individually true. and B iz the correct explanation of A

2. % Both A and B are individually true, but B 1= not the correct explanation of A
3. % A iz tme but R iz false

4 % A flsebut R s true

Question Number : 25 Question Id : 630630317998 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33

2R 20 Do Hdod) & 1206 FRioS DO S5)7
Options @

1. % @i a0 2t Do &
1 % e 18638 THteS 23305

3. ¢ @65 187965 T0E8 DS arDoTre.
4

¥ 35 Nl S Sroradh Tonsto

.

Question Number : 95 Question Id : 630680317998 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements about Swami Vivekanand 1z INCORRECT?

Options :

¥ His birth name waz Narendranath Datta.

¥ He was bor in Kolkata in 1863

+ He founded the Ramakrishan Mission in 1879.

# He was a disciple of Gadadhar Chattopadhvaya

Lid g

Jen

Question Number : %6 Question Id : 630680317992 Iz Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

&Sie o Dar Sboorart BS adE S 00D & aSibes ez, Hors 0ok sard
MO0 DHchos §Q) (HoIraTred sododmRs sHocsn TR ass Sonodhs Jadire §hHo dorjen
TOHTRE GrFrodoTndon.

Options :

% 1950

¥ 1040

#1048

® 1947

¥ R

Question Number : 26 Question Id : 630630317990 Is Question Mandatory : No Calculator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

The Emplovees™ State Insurance Act was enacted in to provide for certain benefits to emplovees in caze of sickness, matermity and

emplovment injnry and to make provision for certain other related matters.
Options :

1. % 1950
2% 1940
3.9 1048

4ai51
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Question Numhber : 87 Question Id : 630680318000 Is Question Mandatory : No Caleulator : None Responsze Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

194965 e GSTH0 000 20657 BRGSO T Darsrd 200050 D080 TobaGod 00k Sthard
2007S" HSDCBBAOD.

4 % o308

Question Number : 97 Question Id : 630680318000 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
The Treaty of Frnendship and Cooperation was first sipned between Indiaand ~ in 1949 and later revized in 2007,
Options :
% Bhutan
¥ iyanmiar
% Nepal

® 2n Lanka

1
3

Jeu

Question Number : 98 Question Id : 630680318001 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3

Correct Marks : 1 Wrong Marks : 0.33
POBDE0 DOLETODD PAS S‘*ﬂ';‘hﬁf_ré“m (srodn A) ord Doons (s~0do B) ﬁﬁﬁﬂaad.

Soa A sreco B
A) exddd pod 1) JrdS’ ardadvo dhog, 2rsed DdFaio
(e iale st GT\IPE)& DD
B) esddind 550 0 S D0e56° SFAPAD oo DATIE T
C) esdBhD Had M) 3Ieod Es0aD o R0DS” LS FTod

DOdgs o 2ahs 2307

D) 50800 52805 V) Q&P&Sn)gmcgw 2 B2 o Dy
pIGBeaS ardped’ arosdso
a3g), pds &'5lo

Options @

1. ¥ A IWB-LC-TI,D-TI
2% A NMB-MC-IVD-I
3 A MEBE-IVE-LD-II
4vA IB-IC-LD-IV

49/51
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Question Number : 98 Question Id : 630680318001 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Match the military operations carried out by India (Column A) to the description thereof (Column B).

Column A Column B

A) Operation Maitri I} India's earthquake relief and rescue

mission in Nepal

B) Operation Cactus Lilly ) Indian air attack against Pakistan at

Western front

C) Operation Pawan Iy  Military action by Indian Peace
Keeping Force during Sri Lankan civil
war

D) Operation Cactus IV)  India’s military intervention in the

Maldives to restore democratically
elected government

Options :

¥ A WE-LC-ONMD-TI
®A-DB-MLEC-TN.D-1I
KA MB-IV.C-LD-T
AMAITB-ILC-ILD-IV

e Ll e

Question Number : 99 Question Id : 630680318002 Is Question Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

1DER g0dcies”’ Todted Dor; HoP eond EosT Ao 3 ardodadod.

Options :

1% 28aho Doeiok
2. ¢ »B& arpoly
3 % 2p 30

1% 8l

Question Number : 99 Question Id : 630650318002 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: 0.33
The firzt education institetion in British India, the Calcutta Madrazsa was founded by .
Options :
¥ William Bentinck
. % Warren Haztings
# JTohn Shore

¥ George Barlow

lad  d hea

Question Number : 100 Question Id : 630680318003 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 100 Question Id : 630680318003 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : Minimom Instruction Time : § Negative marks display text : 1/3

Correet Marks : 1 Wrong Marks : 0.33

Chapter 37{ of the Indian Penal Code dealswith .

Options @

1. & offences relating to marriage

2. ® offences against the State

3. ® defamation

4. ® erominal conapiracy

Question Number : 101 Question Id : 630680313004 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

2000 025 &t rohiten HosS8 8505 eyBnbs mer) S e rhom.

Options :

® 1394

¥ 1396

W 1898

v 1892

i g e

Question Numhber : 101 Quesdon Id : 630680318004 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

Leaders of the Singh Sabha Movement established the Khalsa College in Amritzar in the year

Options :

1. % 1804

2. % 1856

3. % 208

4« 1592

Question Number : 102 Question Id : 630680318002 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
2370 2023 aredE, ecinar PGS - |5 oS 35 e s (AB-PMIAY) (58 odoeth SitnoarnE
HoSSNTRE K00 eafi: S5 e 20s05.
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Question Number : 102 Question Id : 630680318005 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3

Correct Marks : 1 Wrong Marks : 0.33

As of Tune 2023, the Ayushman Bharat - Pradhan Mantn Jan Arogva Yojana (AB-PMIAY) provides a maximum health coverof 3
per beneficiary family per anmuom.

Options :
5181
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1. ¥ 2labche
2. % 11skh
3. 5 lakhs
4 B 3lakhs

Question Number : 103 Question Id : 630680318006 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

2ptist Trrrofios @ efid 370 Sossdods HRTohtoE ADDTon.

Options :

1. B 2016
2.#" 2010
3. W 2GIE

s AT
= ﬁ FavE

Question Number : 103 Question Id : 630680318006 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Article 370 of the Constitution of India was rendered inoperative inthe year

Options :

® 2016

¥ 2019

% 2018

L

Lid B e

Question Number : 104 Question Id : 630680318007 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options @

1. ¢ Senthd

2. % 5k

3 :l’ﬁ ;::AJ-..'I':“;_L--"CL:'

4 ® Hehibt

Question Number : 104 Question Id : 630680318007 Is Question Mandatory : Ne Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

The “colleginm system” adopted by the Indian judiciary refers to a system where the Chief Justice of India and the SENI0T-MOost
judges of the Supreme Coort recommend candidates for judicial appointments, to the Prezident of India.

Options :
1. & four
2. ® two
3. ¥ three
B five

da

Question Numhber : 105 (Quesdon Id : 630680318008 Is (uestdon Mandatory : No Caleunlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : § Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 105 Question Id : 630680318008 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3

Correct Marks : 1 Wrong Marks: (.33

Select the option that i3 correct regarding the correctness of the following two staterents labelled Assertion (A) and Beason (F).

Az Aprifarket mobile app can be uzed to get the market price of crops in the markets within 10 fom of the device’s location
P Kizan Swvidha i3 an omntbus mobile app developed to help fammers by providing relevant information to them quickly:
Options :

1 ® Both A and B are individoally troe, and B iz the correct explanation of A

2 ® Both A and R are individeally true. but R iz not the correct explanation 6f A

3.8 A s itmebut R iz false

4. % A s falze but B i3 true

Question Number : 106 Question Id : 630680313009 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marlks : 1 Wrong Marks : 0.33

2R 2023 7re38, D5 2GS DA ransS (SBMG) oo A sarodiadidiod.

Question Number : 106 Question Id : 630680318009 Is Question Mandatory : Ne Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: 0.33

Az of June 2023; the Swackh Bharst Mizzsion-Grameen (SBM-(3) 1z administered by the

Options @

& Ministry of Jal Shalkti

#® Ministry of Rural Development

#® Ministry of Panchayat Ray

4. % Nustry of Consumer Affairs, Food and Public Distnibotion

Question Number : 107 Question Id : 630680318010 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

237 2023 7redE, 25h) arde Dodia-endne (SBM-U) s A sarotiadinsluod.

Options :
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Question Number : 107 Question Id : 630680318010 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3

Correct Marks : 1 Wrong Marks: 0.33

Az of June 2023; the Swackh Bharat Mizzsion Urban (SEM-U) is admimstered by the

Options @

1. ¥ Ministry of Jal Shakh

. % Ministry of Housing and Urban Affairs

® Ministry of Commerce and Indnstry

lad =

% Ministry of Consumer Affairs, Food and Public Distribution

Question Number : 108 Question Id : 630680318011 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

2PGet 1925065 50 Eroododd ESBSE S5 500 ond HI0DOEWAYAM) a0 85k fthed’  Dod
FH0T Fye Trryohith Iunenaren SO0,

Options :

1 % &S Ianod I S65

2. % S50V A0t VI SO
3. o SGK8 I S0 S mEThas 368
4 % S&5Ka Mook IV S5%

A

Question Numhber : 108 (Quesdon Id : 630680318011 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

SWAYAM. the online programme initiated by the Government of India, facilitates hosting of courses taught i classrooms from

Options :
® classIto Il
¥ claz=Vto VIII

% plass TX to post-graduation
B clas=TM 0 IV

1
2
3

da

Question Numhber : 109 Quesdon Id : 630680318012 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.3

The Union Governmert of India established the Naticnal Judicial Appointment Commission by introducing the Constitutional
Amendment.

Options :
1 % 03th
2.+ 90th
3. % oind

4 % ogth

Question Number : 109 Question Id : 630680318012 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

erses Bold 1D o Crers0f M0 (NRF TG0 oo araloh Aol AdiEil EunSd aomdn
Thod.

S4fE1



10118423, 1:12 PM

Question Number : 110 Question Id : 6306803180132 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
12375 2023 738 ard$TE0S §S | @0l BRd) FHho ¢dgrd Bobmdt $od S raibed B

STe v a e LN
Options :
1. % HAMRAAY
2 ® MADAD
3. B yAEAN
4+ SARATHI

Question Number : 110 Question Id : 630680318013 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the of the followning portals/softwares can be nsed to apply for 3 new driving license in India as of 1 June 20237

Options :

1 % HANBRAAF
2. B MADAD

3. % VAHAN
4.+ SARATHI

Question Number : 111 Question Id : 630680318014 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

The National Single Sign-on platform lanached by the Government of India in July 2022, 1o facilitate/provide citizens ease of aceess to
govermment portals i3 called

Options @

o MeriPehchaan
#® NivSchems

B WyGoy

4 % UMANG

=
5
=

Question Number : 111 Question Id : 630680318014 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

oot |P2he f G e Medionr AR ToLE Y00 ERE ertid (5208 1o 2785 20228 ErEcDoS
TAasS DoRS DI-BS PSS e0erd.

Options :

1. % MenPehchaan

2 ¥ MiyScheme

3. B MxGov

4 ® UMANG

Question Number : 112 Question Id : 630680318015 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

TS RSB S5) 55 S0l Sodsto & eZracdod.
Options :

® 2017
® 2014
. 2006

® 2010

R R
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Question Number : 112 Question Id : 630680318015 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3

Correct Marks : 1 Wrong Marks: (.33

The Mational e-Governance Plan was approved by the Union Cabinet tn May

Options @

1. W 2017

* 2014
« 2006
)

4 % 2010

[ I O |

Question Number : 113 Question Id : 630680318016 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

UMANG provides a single platform for all Indian Cifizens to access pan India e-Gov services ranging from Central to Local Govemnment
bodies. UMANG 15 an acronym for

Options :

1. % Unified Mobile Application for New-age Govemance
2. #* Unlimited Mobile Access for Neo Goverpance

3. ® Unilateral Mobile Application for Wodal Govemance

4. ® Uninterrupted Mobile Access for National Governance

Question Numhber : 113 Quesdon Id : 630680318016 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options @

1 chrd s B3 ouEas o6 dreof ﬁ;iﬁ‘- co.) (Unified Mobile Application for New-age Governance)

2 % ohrd s Tude airs R o0 AEr 850, 5 (Unlimited Mobile Accass for Neo Governance)

3. % QeBadS Dodd wltae ob 4%S .:ﬁf'; o) (Unilateral Mohile Application for Nodal Governance)

1 % oizoaTyl TudE airs R 98 FhSS B30 S) (Uninterropted Mobile Access for National Governance)

Question Number : 114 Question Id : 630680318017 Is Question Mandatory : Neo Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Fages ardog eome '2Reto B0k 55818 118" eod0Rse SBckn e S0l modddor

HOGE 000 SO TrroR0S R rh It i0r 5750 R 5038 T e 2PHOT S06” @ 20178, 2p0s
SODOE D a5 DD oA,

Options :

s

[
(LTI L
! e, I'_:".l FE
O e Ol Oy

O

Ld [l e
x { =
-
R e R o R
[ = TR L [ WY |

Lo

Question Number : 114 Question Id : 630680318017 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: (.33

I 2017, The Supreme Court of India miled that Right to Privacy iz “intrinsic to life and personal bberty® and iz inherently protected under
. and as a part of the freedom guaranteed by Part I of the Constitution

Options @
1. ¥ Asticle 23
2. % -Acticle 27

S6/GT
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3.9 Article 21
4 % Aricle 20

Question Number : 115 Question Id : 630680318018 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 115 Question Id : 630680318018 Is Questdon Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Which of the following Ministries iz NOT involved with the Beti Bachao, Beti Padhao (EBBP) Scheme as of June 20237

Options :

1. ¥ Ministry of Homan Fesource Development

& Ministry of Social Justice and Empowerment

#® Mhnistry of Health and Family Welfare

4. % MNbhmstry of Women and Child Development

Question Numhber : 116 Quesdon Id : 630680318019 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 116 Question Id : 630680313019 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Indiz obzerves as National Girl Child Day every year, with an objective to provide support and opporifunities to the girls of the
couftry.

Options :

% 12 Jamoary

B 18 January

® 21 Janvary

e Ld bD

¥ 24 January

Question Number : 117 Question Id : 630680318020 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Inx Jamuary 2023, the Chief Minister of Andhea Pradesh declared  as the capital of the state.

Options :

® Amravati

¥ Vizakhapatnam

¥ Guntor

Lid. s e
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Question Numhber : 117 Quesdon Id : 630680318020 Is Questdon Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 118 Question Id : 630680318021 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 118 Question Id : 630680318021 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3

Correct Marks : 1 Wrong Marks: (.33

Select the option that i3 correct regarding the correctness of the following two staterents labelled Assertion (A) and Beason (F).

A: The Erishnapatnam port iz located on the east coast of India.
B On bifurcation of Andhra Pradesh Telanzana was left with no sea ports.

Options :
#® Both A and R are mdrviduoally troe, and B 13 the correct explanation of A
% Both A and R are individoally troe_ but R iz not the correct explanation of A
#* A 1z true but R iz false
® A iz falze buot B is true

Lad Ba =
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Question Number : 119 Question Id : 630680313022 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
Section 108 of the Andbra Pradesh Reorgamsation Act 2014 enables referring disputes between the two states (Andhra Pradezh and
Telanganajtothe .
Options :
% Prme Minister of India
. % Precident of India
8 Chief Justice of India
¥ Tnicn Home Mindster

bid Bl e

in

Question Number : 119 Question Id : 630680318022 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 120 Question Id : 630680318023 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Numhber : 120 Quesdon Id : 630680318023 Is (uesdon Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Through an order dated 28 November 2018, the Supreme Court of India constituted the o resolve bifurcation issues between the
states of Andhra Pradesh and Telangana

Options @

1. ® Justice 5 P Talukdar Commattae

¥ Justice B M Shsh Commities

% Justice J § Verma Committes

& Tustice D M Dharmadhikari Committee

I.I,. Lid

Question Number : 121 Question Id : 630680313024 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 121 Question Id : 630680318024 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Seven people named K. T, M. N, O, P and R are sitting in a straight hine facing north direction. W 13 zecond to the left of L. P 15 third to
the rizht of O. N is not the immediate nesghbour of O. Only L 15 sitting between K and O. M is third to the right of L. N is at one of the
ends. Who is sitting fourth to the left of P7

Options @
L. NE
N
L
v'L

I.l..- Lid
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Question Number : 122 Question Id : 630680318025 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options @
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Question Number : 122 Question Id : 630680318025 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33

Eachof A B, C,D,E_F and G haz an exam on a different day of 2 week starting from Monday and ending on Sunday of the zame
week E's exam i3 immediately before A. Coly two people have exams after B. Only two people have exams between the exams of A and
B. C’s exam iz immediately before F. G’z exam is on some day after F. G's exam i3 immediately after D. On which day 12 F's exam?

1

2. ¥ Wednesday
3. % Thursday
4. ¥ Zamrday

Question Number : 123 Question Id : 630680318026 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 123 Question Id : 630680318026 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks: (.33

Eight friends named P, Q. B_ 8, T. U, V and W hive cn different floors of a building. The ground floor is number 1, the floor above it
nomber 2 and so on till the top floor iz nomber 8- ) lives on the floor immediately above Wz floor. Only B lives between the flocrs of 5
and U. Only three people live between the flocrs of V and PV lives on the top floor. U lives on floer 1. T bives on some floor below Ws
floor Who lives on floor 57

Options @
1. "W
2R
3T
4 %3
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Question Number : 124 Question Id : 630680318027 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Fead the given statements and conclusions carefully. Assuming that the information given in the statements 1= frue, even if it appears to be
at variance with commonly bnown facts, decide which of the given conclusion: logically follow(z) from the statement(s).

Statements:

All televisions are computers.
Some televisions are mixers.

Conclustons:

L Some computers ate mixers.

I No computer is mixer

Options :

1. " Only conclusion I follows

2. ® Only conclusion I follows

3. ¥ Both concluzions I and IT follow
4

¥ Neither conclusion I nor I follows

Question Numhber : 124 Quesdon Id : 630680318027 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 125 Question Id : 630680318028 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Eead the given statements and conclosions carefully. Assuming that the information given in the statements 15 true, even if it appears to be
at variance with commonly known facts, decide which of the given conclusion: logically follow(z) from the statement(s).

Statements:

All amimals are tigers.
Al tigers are birds.
Mo bird iz 2 pigeon.

Concluzionz:

I Notigeris a pigeon

II. Some pigecns are animals.
M1 Some animalz are not birds.
Options :

1. ¥ Only conclusion T follows
2. ¥ Ounly conclusion IT follows
3

¥ Conclosions I and 1T follow

B1/GT
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4. 8 Conclosions T and 11T follow

Question Numhber : 125 Quesdon Id : 630680318028 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 126 Question Id : 630680318022 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

EV=Y>K>P>W=Rand Y <] < T, then which of the following 1z WOT comect?

Options &

1 B ey

v E>T

AY=R

nI=F

do L B2

Question Number : 126 Question Id : 630680318029 Is Queston Mandatory : No Calculator : None Response Time : N.A Thinlk
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0,33
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Question Number : 127 Question Id : 630680318030 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Options &

« TYI-253

% TYE-258

® TZI 230
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Question Numhber : 127 Quesdon Id : 630680318030 Is Queston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

Select the term that will replace the question mark (7) in the following series.

FOD-13, CKY.29, ZGT-61, WCO-125, 7, QUE-509

|

2. % TYK-258
3. B TZIE50
4. % TYH-244

Question Number : 128 Question Id : 630680318031 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3

Correct Marks : 1 Wrong Marks: (.33
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Question Number : 128 (uestion Id : 630680318031 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

How many such pairs of letters are there in the word "BRISTLES" that have as many letters between them az in the English alphabetical
seriesT (Count both forward and backoward directions.)

Question Number : 129 Question Id : 630680318032 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Select the option that i3 related to the fifth letter chuster in the same way as the first letter cluster iz related to the zecond letter cluster and
the third letter cluster 13 related to the fourth letter cluster

PROUD: FWQTR: : TIGHT : VIIKV - BISER : 7
Options :

% THVET

o TGUET

® GTULT

¥ TFUET

il P e

da

Question Numhber : 129 Quesdon Id : 630680318032 Is (uesdon Mandatory : No Calenlator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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PROUD: FWQTE: : TIGHT : VIIEV : :RISER : 7
Options :

® THVET
. % TGUKT

¥ GTULT

R TFUKT
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Question Number : 130 Question Id : 630680318032 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 130 Question Id : 630680318033 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Select the letter cluster triad 1n which the letters clusters have the zame relaticaship az i the letter cluster triad given below:

CLAN: XOZM: OFQD
Options @

1. ¥ TOYS: GLEF: RWUA
2. % SOME-HLNV:-LPRZ
3. % BITS: YEFH: UBKI
4« COMB: XL NY: RTEF

Question Number : 131 Question Id : 6306803138034 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 131 Question Id : 630680318034 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
Three of the following four word-pairs are alike #n a certain manner and one i3 different Selact the one that is different
Options :
® Cricket Overthrow
® Foothall- Brace
® Golf Duff
. % Polo: Deuce

S I v

Question Number : 132 Question Id : 630680318035 Is Question Mandatory : Ne Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
206 BHRS 59 M (MD B0 Tahie How:d B 1GN DD Sod JohFod.

23,24,32,59, 123, 7. 464
Options :
1 % 224
B 2D
oW 248
® 250

dm b P2

Question Number : 132 Question Id : 630680318032 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3 Negartive marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

Select the number from among the given options that can replace the question mark (7) in the following series.

25, 24,3259, 123, 7. 464
Options :
® 2124
® 240
o 248

* 260

Lid b e

Question Number : 133 Question Id : 630680318036 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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97 % (64 @ @S = (23@3) & (B8%6d) = 1
Options @
. ® 110
8 15
v 135
. 5
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Question Number : 133 Question Id : 630680318036 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
In a certain code language, if “& " means "addition’, '= means ‘mltiplication’, '@ means ‘diviston’ and "%’ means 'subtraction’, then find
the value of

07 % {64 @ NBE = (23@T) & (BRIB4) £ 2.
Options :

# 110

Question Number : 134 Question Id : 630680318037 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3
Correct Marks : 1 Wrong Marks : 0.33
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Study the given pie chart and answer the question that follows.

The following pie chart shows the percentage of emplovees working in different
departments of an organisation. The total number of employees working in the
organisation is 12,000. How many employees are more in Marketing department
than the number of employees in Production department?

Options :
=720

. ® 0g0

.+ 1080
® 1140

Ld bd e

iw

Question Number : 134 Question Id : 630680318037 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks: (.33
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Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 135 Question Id : 630680318038 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Study the given chart and answer the question that follows.

The following chart shows the number of students enrolled in six different courses
labelled A, B, C, D, E and F in a college.

700
600
500

660
380
400 330
300 124
160
200
Im - '
A B C D E

F

452

The number of students enrolled in course E is what percentage of the total number
of students enrolled in all six courses?
Options :

1. % 55%
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B 925%
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Question Number : 136 Question Id : 630680318030 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
In a school having 400 students. boys and girls are in the ratio 3 : 5. The smdents speak Hindi. English or both the
languages. 12% of the boys speak only Hindi, 22% of the girls speak only English. 24% of the total students speak only
Hindi. How many gicls speak only Hindi?
Options &
1 %35

3 m 117

96

[
B

78

e
4

Question Number : 136 Question Id : 630680318039 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Options @

1 % 55

n 117

(]

% 96

4 v 78

Question Number : 137 Question Id : 630680318040 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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Study the following pie graph. and answer the question given below.

MARKET SHARE (2018-19) Market Share (2021-22)

Compiany B
irs

m Company & B Company B & Coampany C & Company A & Company B e Campany T
u Compary D m Other & Company D' w Other

If the market size in 2021-22 is #1_200 crores and the market size in 2018-19 is 21_800 crores. then the difference (in 3

crore) between in the revenues of Company B in 2021-22 and Company D in 2018-19 is:
Options :
1 % 168

2 o 162

u 156

Lig

4 % 165

Question Number : 137 Question Id : 630680318040 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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w8Dv 2021-226° a00), 85 DBareeo 1,200 By aododn 2018-198" a8) 5 Hdarese 1,800 Heaw eansed,
2021-22¢" S0 B awbain 2018- 196° Son D ecroire dody o dyoio (I Swd’):
Options :

BSfET



10M158/23, 1:12 PM
1 = 168

v 162

[

# 156

Lig

4 % 165

Question Number : 138 Question Id : 630680318041 Is OQuestion Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Study the given graph and answer the question that follows.

Mumbers of students admitted in schoals A, B
and Cin 2022 in diffrent classes

a5 42 &0
ao 3B a7 6
35 - 32 32 =
0 s 26 25
5
0
15
10
5
o
Cas# Oussh Oassh Oass?

A mb=C

The average number of students admitted in class 6 in all schools is what percentage of the average number of students

admitted in class 4 in all schools?
Options &
1 82.5%

% 80.5%

(=]

® 75.5%

(¥R}

4 % 78.5%

Question Number : 138 Question Id : 630680318041 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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1.« BE.S:’:

w 80.5%

(]

# 75.5%

(W ¥ ]

1w 7854

Question Number : 139 Question Id : 630680318042 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

The given bar graph shows the sales of computers (in thousands) from the top-most six companies during two

consecutive years 2020 and 2021. Study the graph and answer the question that follows.

100 3] a3 5

= i = it o
= M 7 73
E 8 6%
S W
i
= =0
= b
& 30
X »

]

A B 1] E F
Companies

2020 =201

Find the ratio of the average sale of all the branches for the vears 2020 and 2021.
Options :
1 = 66.5:81

2 o 76.5:82
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3 % 88:705

4 % 8081

Question Numhber : 139 Quesdon Id : 630680318042 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1 % £66.5: 81

5 o 16582

% 88:76.5

Lid

4 x 8081

Question Number : 140 Question Id : 630680318042 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
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300 DHSD VEEODDO 3D, Fod VI B NATEFDO DL,
2011 Hoad 2016 508y DD th-eg‘:l ergoth T ol caratn (T Sax).

2011 Aods 2016 H0H B0ves™D erfoth cIng), D) TOE'D Dogo Ladraaw, SPess’D vy TDLE™D By

PDoDSTTL Ao Garaed” Joe Tao?

Jn)ﬂ&)ﬁ:,ﬂ-ﬂ—&
2011|2012 | 2013 | 2014 | 2015 | 2016

oraren )
PR AL 23 | 47 | 58 | 76 | 92 | 105
Sgees 0] 18 26 45 B3 88
DN D 0] 0 15 29 42 68
=Tl 0 O 0 B 6 76

Options &

; & 45%

2 x 48%

3.« 207

1 = SEK

Question Number : 140 Question Id : 630680318043 Is Questdon Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33
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Study the following table and answer the question that follows.

Deposits (in ¥ crore) of a bank from its branches in different states from 2011 to 2016.

The total deposits in all the branches of the bank in Kerala from 2011 to 2016, is what percentage of the total
deposits in all branches in Karnataka of all years?

Year —

2011 (201220132014 | 2015 2016
States

l

Andhra Pradesh | 23 47 58 76 2 | 105

Karnataka 0 18 26 | 45 63 88

Tamil Nadu 0 ] 15 29 42 68

Kerala 0 ] ] 8 36 76

Options :

1 x 45%

u 8%

(B

h ol
%
L
2
=}
o

Question Number : 141 Question Id : 630680318044 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

23, 25, 22,19, 37, 57, 21, 17 ogrow orfay:

Options :

1. = 20

3 o 40
3 8 57

s w17

Question Numhber : 141 Quesdon Id : 630680318044 Is Quesdon Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
The range of the data 23, 25, 22, 19, 37, 57, 21, 17, is:
Options @
1% 20
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Question Number : 142 Question Id : 630680318042 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

The standard deviation of the data 6,7,10,12,13,4,8,12, is:

Options :
| % 190

4

®
e
<

Question Number : 142 Question Id : 630680318042 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

6,7,10,12,13,4,8,12 0orodo JOras Daexdo:

Options :
| % 2.96

2 % 2.92
;. % 3.01

4 3.04

Question N

umber : 143 Question Id : 630680313046 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
oo QEJJE‘.E’ iy sood mqgm Debesdho :

X 6 10 12
f 10 8 | 5
Options :
1 x 2
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3 & 2:3

# 3.3

Question Numhber : 143 Quesdon Id : 630680318046 Is (uesdon Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

The mean deviation about the mean for the following data is:

X 2 4] 8 10 12
I 2 10 7 3 5
Options :
| = 2
g o 23
z x 3
4 ® 3.3

Question Number : 144 Question Id : 630680318047 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

S0 S0 ﬂ“.ﬁ:‘ﬁ_}aﬁ eIy o8, 9080136 Dt 24.8 2900008, X Dend:

OOH3 20000 N0
0—10 5
1020 17
2030 12
30-40 6
40-50 x
Options :
1 % 15
s x 13
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Question Number : 144 Question Id : 630680318047 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

If the arithmetic mean of the following frequency distribution is 24.8, then the value of x is:

Class interval Frequency
0—10 5
10=20 17
2030 12
3040 &
40-50 x

Options @

1. % 15

2w 13

3.4 10
® 12

Question Numhber : 145 (Queston Id : 630680318048 Is (uesdon Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

The geometric mean of the data 5,25,35,45 is closest to:
Options @
1 % 22.06
2 % 19.60
3 % 20.60
4« 21.06
Question Number : 145 Question Id : 630680318048 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
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Correct Marks : 1 Wrong Marks : 0.33
5,25,35,45 omroso diug) eosiee e FDodjorr:
Options &
| % 22.06

x 19.60

(B

# 20.60

4 v 21.06

Question Number : 146 Question Id : 630680313049 Is Question Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

If the mean and mode of a certain data are 23 and 8, respectively, then the median of the data is:

{Use empirical formula.)

Options :
1. % 16

1

3
¥

20

[F¥)
&

4+ 18

Question Number : 146 Question Id : 630680318049 Is Quesdon Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

2SO D0 dirodo NG L) D061 EFOFEIDEN DERTT 23 d8ain 8 e00H0B, ogroso dudiito:
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Options :
1 % 16

7 % 19

s 20

Lad

4+ 18

Question Number : 147 Question Id : 630680318050 Is Questdon Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0,33

13,12, 18, 15, 16, 21, 2ubadiw 28 cigrodo 0lug), S0G TS0:

Options @

; & 15
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2.+ 16
3 % 18

o ® 20

Question Numhber : 147 Quesdon Id : 630680318050 Is Questdon Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
The median of the data 13. 12, 18, 15, 16, 21, and 28, is:
Options :

1 % 135

[ BN

& 16

18

x

‘w3
4 % 20

Question Number : 148 Question Id : 630680318051 Iz Queston Mandatory : No Calculator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33

The mode of the data 23, 15, 26, 25, 15, 16, 18, 24, 15, 23, and 25, is;
Options :

] % 23

[FE]

L
[
L]

Question Number : 148 Question Id : 630680318051 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
23, 15, 26, 25. 15, 16. 18, 24, 15, 23, s000in 25 ogrove g, LaPITS50:

Options @
1 - 23
> % 18

15

[¥5]

Question Number : 149 Question Id : 630680318052 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3

Correct Marks : 1 Wrong Marks : 0.33
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Options :
| % ¥83,540

x 84,530

(]

x 184,350
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Question Number : 149 Question Id : 630680318052 Is Queston Mandatory : No Caleulator : None Response Time : N A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33
In a hospital. the average salary of 12 doctors and 8 nurses is ¥89.480. If the average salary of the doctors is 93,500,
the average salary of the nurses is:
Options @
| & 183,540

® 4530

(BN

u 384350

[FE)

o 383450

=

Question Number : 150 Question Id : 630680318053 Is Question Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : I3
Correct Marks : 1 Wrong Marks : 0.33
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Question Numhber : 150 Quesdon Id : 630680318053 Is (ueston Mandatory : No Caleulator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0 Negative marks display text : 1/3
Correct Marks : 1 Wrong Marks : 0.33

Following graph shows that the vield of crop in four different districts in the vears 1985 and 1995, Find the ratio of
percentage increase in vield of crop in Srikakulam to the percentage increase of vield of crop in East Godavari for the

given years.

Cuntur Nellore Srikakulam Exzt Godevan
—— 1888 ——1G0C
Options :
1w 6:7
5 B T . ﬁ
3 m 4:5
418 54
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